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Change requires space

The Netherlands has a relatively small share of renewable energy Renewable energy S

and a low EU target for renewable energ@ympared to other EU Member States in 201production tales up a
great deal of space.
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Malta

Luxembourg unable to meet its
Unied Kingdom The Dutch target for renewable

energy is so low because the energy demand USing
Netherlands L Netherlands has fewer options domestically grOWﬂ

Gprus compared to other EU countries.

Belgium For example, it has no mountains biomass — there is e ¥ BIOmaSS N - & :

Ireland with storage reservoirs.
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